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Hopkinson's test is conducted at- 

How many receptacles can be on a 20-amp circuit? 

 

Exam 

Code 

 

: AADHI_II_TECH_ELECTRCL1 
Exam 

Date 

Exam 

 

: 30-08-2019 

Version : 9 
Time 

: 15:00 - 17:00 

 
 

 

Question No. 1 
 

 

 

 

 

A) No load B) Low load 

 
C) Full load D) Part load 

 

Answer Key : C Your Response : A (Wrong) 

 

Question No. 2 
 

 

   

   
 

 

 

A) 30 B) 40 

 
C) 50 D) 10 

 

Answer Key : D Your Response : D (Correct) 

 

Question No. 3 
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The magnetic flux which does not follow the particularly intended path in a magnetic circuit is 

called- 

High voltage DC (HVDC) transmission is mainly used for- 

The chemical formula (CuNO3)2 corresponds to- 

 
 

 

 

 

A) Leakage flux B) Magnetic flux 

 
C) Flux D) Flux density 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 4 

 
 
 

 
 

 

 

A) Eliminating reactive power requirement in 

the operation 

B) Minimizing harmonics at the converter 

stations 

C) Interconnecting two systems with the 

same nominal frequency 

D) Bulk power transmission over very long 

distances 
 

Answer Key : D Your Response : D (Correct) 

 

Question No. 5 
 
 

A  
 

 

 

A) Copper (II) nitrate B) Copper (I) nitrate 

 
C) Calcium nitrate D) Copper nitride 

 
Answer Key : A Your Response : A (Correct) 



Question No. 6 
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Which of the following are DC windings? 

HIV is not likely to be transmitted by which of the following? 

 

 

 
 
 
 
 

- 
 

A) Ampacity Wire Gauge 

 

 
 
 
 
 
 
 
 
 
 

B) 

 

 
 
 
 
 
 
 
 
 
 
American Wire Gauge 

C) Actual Wire Gauge D) Ambient Wire Gauge 
 

Answer Key : B Your Response : B (Correct) 

 

Question No. 7 
 
 

 
 

 

 

A) Double layered winding B) Fractional slot winding 

 
C) Single layered winding D) Lap winding 

 
Answer Key : D Your Response : A (Wrong) 

 

Question No. 8 

 

 
 

A) Breast - feeding B) Blood transfusion 

 
C) Sharing needles or injection equipment D) Mosquito bites 

 
Answer Key : D Your Response : A (Wrong) 
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The speed of a DC machine can be measured by a/an- 

A 20 metre length of cable has a cross-sectional area of 1 mm2
 and a resistance of 4 Ohm. 

Calculate the conductivity of the cable. 

  

Question No. 9 

 
 
 

A) Tachometer B) Ammeter 

 
C) Anemometer D) Voltmeter 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 10 
 
 

 
 

Distribution lines in India generally use-  

A) RCC poles B) Wooden poles 

C) Steel tower D) Iron poles 
 

Answer Key : A Your Response : A (Correct) 

 

Question No. 11 

 
 

 
 

 

A) 4 MS/m B) 5 MS/m 

 
C) 12 MS/m D) 10 MS/m 
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Calculate the number of particles in the following: 46 g of Na atoms. 

What is the thermal conductivity of nichrome? 

Lady Ratan Tata Trophy is associated with which sport? 

Answer Key : B Your Response : B (Correct) 

 

Question No. 12 

 
 
 

A) 46 B) 12.044×1023
 

C) 46×6.022×1023 D) 6.022×1023
 

 
Answer Key : B Your Response : Not Answered 

 

Question No. 13 

 
 

   

 

A) 15.5 Wm-1K-1 B) 11.3 Wm-1K-1
 

C) 25 Wm-1K-1 D) 20.7 Wm-1K-1
 

 
Answer Key : B Your Response : A (Wrong) 

 

Question No. 14 
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  is defined as weber-turns in one coil due to one ampere current in the other. 

In , Sir William Jones set up the Asiatic Society of Bengal. 

A) Badminton B) Football 

C) Hockey D) Cricket 

 
Answer Key : C Your Response : A (Wrong) 

 

Question No. 15 

 
 

 
 

 

 

A) Coefficient of mutual inductance B) Load coefficient 

 
C) Temperature coefficient D) Energy efficiency coefficient 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 16 

 
 
 

 

 

A) 1784 B) 1786 

 
C) 1783 D) 1785 

 
Answer Key : A Your Response : B (Wrong) 

 

Question No. 17 
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The r.m.s. value of pure cosine function is: 

The form factor of a 220 V, 50 Hz AC waveform is- 

  

 

A) 1024 kilobytes B) 1024 megabytes 

 
C) 1150 megabytes D) 1391 megabytes 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 18 

                   A) 0.5 of peak value B) Zero 

 
C) Same as peak value D) 0.707 of peak value 

 
Answer Key : D Your Response : C (Wrong) 

 

Question No. 19 

 
 

   

   
 

 

 

A) 1.11 B) 0.85 

C) 0.95 D) 1.41 
 

Answer Key : A Your Response : A (Correct) 

 

Question No. 20 

 
 

 

1 gigabyte is equal to- 
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The process by which impurities are added to a pure semiconductor is called- 

Who discovered that a current-carrying conductor would move when placed in a magnetic field? 

 

 

 
 

A) Phase and neutral B) Phase and earth 

 
C) Earth and neutral D) Neutral and earth 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 21 
 

  
 

 

 

A) Drift B) Diffusing 

 
C) Doping D) Mixing 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 22 

 
 

 

 

A) Nikola Tesla B) Gustav Kirchhoff 

 
C) Michael Faraday D) Andre Ampere 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 23 

 
 
 

Which of the following indicates black and green wires respectively in house wiring? 
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To increase the speed of memory access in pipelining, we make use of . 

What is the unit of illumination? 

 
 

 

 

A) Special purpose registers B) Buffers 

 
C) Special memory locations D) Cache 

 
Answer Key : D Your Response : Not Answered 

 

Question No. 24 

 
 

 

 

A) Henry B) Lux 

 
C) Decibel D) Coulomb 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 25 
 
 

 

 

Mutual inductance is measured in- 
 

A) Ampere 

 

 
B) 

 

 
Volt 

C) Henry D) Ohm 
 

Answer Key : C Your Response : C (Correct) 

 

Question No. 26 
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The starting resistance of a DC motor is usually- 

World summit on sustainable development was held in 2002 in- 

 

 
 

A) Cranes B) Lathe machines 

 
C) Electric traction D) Elevators 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 27 

 
 

 

 

 

A) Around 1000 Ohms B) Low 

 
C) Around 100 Ohms D) Very large 

 
Answer Key : B Your Response : D (Wrong) 

 

Question No. 28 

 

 

 
 

A) Argentina B) Sweden 

 
C) Brazil D) South Africa 

 
Answer Key : D Your Response : Not Answered 

Question No. 29 

 

 
 
 

DC shunt motors are commonly used in- 



 

 D 
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Intermolecular forces of attraction are least effective in- 

 

 
 

A) Oil cooled transformer B) Welding transformer 

 
C) Furnace transformer D) Air cooled transformer 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 30 
 

 

 

What is the use of output devices?  

A) To store data B) To scan data 

C) To input data D) To view or print data 
 

Answer Key : D Your Response : D (Correct) 

 

Question No. 31 

  
 

 

 

A) Plasma B) Solids 

 
C) Gases D) Liquids 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 32 

 
 

Buchholz relay is installed on- 
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A 5 kW, 50 Hz, 6-pole slip-ring induction motor runs at 960 RPM. Calculate its synchronous 

speed and percentage slip. 

Which of the following materials is not used as fuse element? 

The ratio of active power to apparent power is known as factor. 

1000 RPM, 4% 

 
 

 

A) 750 RPM, 2% B) 900 RPM, 5% 

 
C) 1500 RPM, 4% D) 1000 RPM, 4% 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 33 

 
 

 

 

A) Aluminium B) Copper 

 
C) Carbon D) Silver 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 34 

 
 

 

 

 

A) Load B) Power 

 
C) Form D) Demand 

 
Answer Key : B Your Response : C (Wrong) 

 

Question No. 35 
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EMF equation of a transformer with respect to primary and secondary windings is . 

(where ϕm-flux, f-frequency, N1-number of turns in the primary winding, N2-number of turns in 

the secondary winding, Bm-flux density) 

Which of the following rivers is one of the major rivers in the state of Odisha? 

The ratio of the maximum power from the solar cell to the product of short circuit current and 

 

 

 

 

 

 

 

A) All of the options B) E1 = 4.44 f N1 ɸm 

 
C) E1 = 4.44 f N1 BmAi D) E2 = 4.44 f N2 ɸm 

 
Answer Key : A Your Response : C (Wrong) 

 

Question No. 36 

 

 

 
 

 

 

A) Pamba River B) Soan River 

 
C) Bhavani River D) Rushikulya River 

 
Answer Key : D Your Response : B (Wrong) 

 

Question No. 37 
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The term "Paper Gold" is associated with- 

Which of the following statements about carbon monoxide is true? 

  

 

) Peak factor B) Form factor 

 
C) Fill factor D) RMS 

 
Answer Key : C Your Response : D (Wrong) 

 

Question No. 38 

 
 

A) Special facility of the Reserve Bank of 

India 

B) Deficit Budgeting 

C) Currencies still in gold standard D) The assets transferred by the International 

Monetary Fund 

 
Answer Key : D Your Response : Not Answered 

 

Question No. 39 

 
 
 

 

 

 

A) All of the options B) It is the result of incomplete combustion of 

fossil fuels 

C) It is a foul smelling gas D) It is harmless to human beings 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 40 

 
 

open circuit voltage is known as- 



Page- 15 

 

 

Which of the following are the advantages of rotating field in large alternators? 

In AC parallel circuit the angle between voltage and current of each branch will be . 

 
 

   

 

In business terms, ARCs stand for- 
 

A) Asset Rebuild Companies 

 

 
B) 

 

 
Asset Reconstruction Companies 

C) Asset Reconciliation Companies D) Asset Recovery Companies 
 

Answer Key : B Your Response : D (Wrong) 

 

Question No. 41 
 

 

 

A) Improved ventilation arrangement B) Better insulation to armature 

 
C) Ease of construction D) All of the options 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 42 
 

 

 

A) Cannot say B) Different 

 
C) Same D) Zero 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 43 
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The value of stacking factor is usually- 

If the equation of sinusoidal current is 141.4 sin 314t. Find the RMS value and frequency of the 

current. 

In which of the following is a Britannia Tee joint used? 

 

 

 

A) Equal to unity B) Greater than unity 

 
C) Zero D) Less than unity 

 
Answer Key : D Your Response : Not Answered 

 

Question No. 44 

 

 

 

 

 

 

A) 400 A and 200 Hz B) 100 A and 50 Hz 

 
C) 300 A and 150 Hz D) 200 A and 100 Hz 

 
Answer Key : B Your Response : Not Answered 

 

Question No. 45 

 
 

 

A) Underground cables B) Power wiring 

 
C) Overhead lines D) Conduit wiring 

 
Answer Key : C Your Response : A (Wrong) 
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The maximum power transfer theorem can be applied to- 

Numbers that are written with base 8 are classified as- 

Which of the following statements is CORRECT about BOD? 

Question No. 46 

 

 

 

 

A) DC circuits only B) Neither AC nor DC circuits 

 
C) AC circuits only D) Both AC and DC circuits 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 47 

 

 
 

A) Real 
numbers B) Hexadecimal numbers 

 
C) Octal numbers D) Negative numbers 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 48 

 

A) Usually less than COD B) A measure of the organic matter present in 

waste water 

C) Biochemical oxygen demand D) All of the options 

 
Answer Key : D Your Response : Not Answered 
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The speed of a DC motor is directly proportional to- 

Earthing Practice Rule 33 of makes it compulsory for licensee to maintain a 

suitable earthed terminal. 

  
 

Question No. 49 
 

 
 

 

 

A) Flux per pole B) Speed of motor 

 
C) Back EMF D) Number of armature conductors 

 
Answer Key : C Your Response : A (Wrong) 

 

Question No. 50 

 
 
 

   

 

In an NPN transistor, P region is called- 
 

A) Emitter 

 

 
B) 

 

 
Base 

C) Collector D) Source 
 

Answer Key : B Your Response : B (Correct) 

 

Question No. 51 

 
 

 

 

 

A) Indian Electricity Rules 1960 B) Indian Electricity Rules 1956 
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Which of the following type of wattmeters is used only on AC? 

When was World Wide Fund for Nature-India (WWF-India) established? 

C) Indian Electricity Rules 1950 D) Indian Electricity Rules 1966 

 
Answer Key : B Your Response : Not Answered 

 

Question No. 52 
 

 
 

 

 

A) Induction type wattmeter B) Dynamometer type suspended-coil torsion 

wattmeter 

C) Dynamometer type pivoted-coil direct- 

reading wattmeter 

D) Electrostatic type wattmeter 

 

Answer Key : A Your Response : C (Wrong) 

 

Question No. 53 
 
 

A) 1976 B) 1997 

C) 1956 D) 1969 
 

 

 

A) 1976 B) 1997 

 
C) 1956 D) 1969 

 
Answer Key : D Your Response : Not Answered 

 

Question No. 54 
 

 

 



 

Page- 20 

 

 

TRS cables on batten are suitable for places- 

When was the French East India Company founded in India? 

 
 

 

 

A) Not exposed to sun and rain B) Exposed to atmosphere 

 
C) Fire hazard is present D) Where acids and alkalis are present 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 55 

   A) 1600 B) 1602 

C) 1705 D) 1664 
 

 

 

A) 1600 B) 1602 

 
C) 1705 D) 1664 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 56 

 

 

 

 
 

A) B) 
 

 

 
C) D) 
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Joint box wiring method might be cheaper with respect to- 

 

 

 

 

 

 

A) B) 
 

 

 

C) D) 
 

 
Answer Key : C Your Response : Not Answered 

 

Question No. 57 
 
 

A) 600 V 

C) 200 V 

B) 

D) 

1000 V 

400 V 

 

 

 
A) 600 V 

 

 
B) 

 

 
1000 V 

C) 200 V D) 400 V 

Answer Key : B 
 

Your Response : C (Wrong) 

 

Question No. 58 
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If one of the parallel resistors in any parallel circuit is removed from the circuit, then the total 

resistance- 

AC servomotor is basically a . 

A) Cost wise B) Power saving 

C) Cable length D) Labour 

 
Answer Key : C Your Response : B (Wrong) 

 

Question No. 59 

 

 
 

A) Doubled B) Increases 

 
C) Remains the same D) Decreases 

 
Answer Key : B Your Response : D (Wrong) 

 

Question No. 60 

 
 

 

 

A) Single-phase induction motor B) Three-phase induction motor 

 
C) Universal motor D) Two-phase induction motor 

 
Answer Key : D Your Response : C (Wrong) 

 

Question No. 61 
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In a three-phase unbalanced load, the power factor of each phase is- 

Which of the following devices is primarily used as resistive temperature sensors and current- 

limiting devices? 

 
 

 
 

 
 

A) W = m - g B) W = m / g 

 
C) W = m x g D) W = m + g 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 62 

 
 

 

 

A) Of opposite signs B) Of such value that the sum total is unity 

 
C) Difficult to determine D) Different 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 63 

 ) 
 

 

 

 

A) NTC thermistor B) Rheostat 

 
C) Light dependent resistor D) Preset resistor 

 
Answer Key : A Your Response : D (Wrong) 

 

Question No. 64 

 

 
 

to gravity? 

What is the formula for weight (W) of an object of mass(m) and where g is the acceleration due 
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Channel wiring material is made of . 

The colour of the moist silica gel is- 

Which of the following errors occur(s) in a moving iron instrument? 

 

 

 

A) Rubber B) Metal 

 
C) PVC D) Wood 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 65 

 
 
 

 

 

A) Brown B) Yellow 

 
C) Pink D) Red 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 66 

 
 
 

 

 

A) Stray magnetic field error B) Hysteresis error 

 
C) All of the options D) Temperature error 

 
Answer Key : C Your Response : C (Correct) 

 

 
FeSO 4 

Question No. 67 

 



 

A) SO2 
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The gases obtained on heating FeSO4 are- 

theorem is applicable to both linear and nonlinear circuits. 

 

C) SO3 D) H2S 

 

 

 

A) SO2 B) Both SO2 and SO3 

 
C) SO3 D) H2S 

 
Answer Key : B Your Response : C (Wrong) 

 

Question No. 68 

 

 

Megger is a combination of- 
 

A) Generator 

 

 
B) 

 

 
Motor 

C) Generator and Ohmmeter D) Both motor and generator 
 

Answer Key : C Your Response : C (Correct) 

 

Question No. 69 
 

) 
 

 

 

A) Norton’s B) Substitution 

 
C) Thevenin’s D) Superposition 

 
Answer Key : B Your Response : D (Wrong) 

 

Question No. 70 
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wiring(s) is/are used to draw TRS cables on teak wood. 

 

A is a circuit, which converts an AC voltage into a pulsating DC voltage using 

both half cycles of the applied AC voltage. 

Which of the following excitation systems have two exciters - the main exciter and a pilot 

exciter? 

 
 

 
 

 

 

 

A) Lead sheathed B) PVC 

 
C) Cleat D) Batten 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 71 

 

 
 

 

 

 

A) BJT B) FET 

 
C) Full wave rectifier D) Half wave rectifier 

 
Answer Key : C Your Response : A (Wrong) 

Question No. 72 
 

 

 

 

 

 

A) Stator B) Rotor 
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Which of the following is/are the common services provided by an operating system? 

 

 

C) DC D) Static 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 73 
 

   

 

Joule's heating effect is undesirable on- 
 

A) Electric iron 

 

 
B) 

 

 
Electric heater 

C) Electric toaster D) Transformers 
 

Answer Key : D Your Response : D (Correct) 

 

Question No. 74 

 
 

 

 

 

A) Error detection B) File System manipulation 

 
C) Program execution D) All of the options 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 75 
 
 

   

 

Crawling in an induction motor is caused by- 
 

A) Harmonics developed in the motor 

 

 
B) 

 

 
Low voltage supply 
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What is the shortcut key to open the 'Insert Hyperlink' dialog box in MS-Word? 

In case of a projectile motion, where is the kinetic energy minimum? 

Windings of star-delta starter while starting and during running are connected in 

 

C) High loads D) Improper design of the machine 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 76 

 

 
 

 

 

 

A) Ctrl + L B) Ctrl + Z 

 
C) Ctrl + H D) Ctrl + K 

 
Answer Key : D Your Response : Not Answered 

 

Question No. 77 
 
 

 
 

 
 

 

 

 

A) At the starting point B) On return to the ground 

 
C) Both the starting and highest point D) At the highest point 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 78 
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With which Indian state is Malabar cuisine associated? 

कर 

A shunt generator running at 1000 RPM has generated EMF of 100 V. If the speed increases to 

1200 RPM, then the generated EMF will be- 

  
 

A) Delta and star B) Star and star 

 
C) Delta and delta D) Star and delta 

 
Answer Key : D Your Response : A (Wrong) 

 

Question No. 79 

 
 

 

 

 

A) West Bengal B) Manipur 

 
C) Kerala D) Assam 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 80 
 

 
 

A) 120 V B) 240 V 

C) 175 V D) 140 V 
 

 

 

 

A) 120 V B) 240 V 

 
C) 175 V D) 140 V 

 
Answer Key : A Your Response : Not Answered 

 

Question No. 81 

 
 

A) 3.33 µF B) 1.33 µF 

 

connection. 



D) 0.3 µF 
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If three 10 μF capacitors are connected in series, then the value of equivalent capacitance is- 

By burning of fossil fuels, is/are produced which cause(s) air pollution. 

Which star can be located with the help of the Orion constellation? 

 
 

 

 

A) 3.33 μF B) 1.33 μF 

 
C) 1.66 μF D) 0.3 μF 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 82 
 

 

 

A) Lots of unwanted noise B) Excessive light 

 
C) Heat D) Smoke and fly ash 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 83 
 

 

 

 

 

A) Pole star B) Alpha centauri 

 
C) The corner star of the Ursa major D) Siriu 

Answer Key : D Your Response : D (Correct) 

 

Question No. 84 
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Q meter works on principle of- 

 

A fuse operates due to the effect of electric current. 

 

 

 
 

A) China B) Bangladesh 

 
C) Japan D) Nepal 

 
Answer Key : A Your Response : D (Wrong) 

 

Question No. 85 

 
 

 

 

A) Self inductance B) Parallel resonance 

 
C) Mutual inductance D) Series resonance 

 
Answer Key : D Your Response : C (Wrong) 

 

Question No. 86   
 

 

 
 
 
 

 

 

A) Electrostatic B) Heating 

 
C) Magnetic D) Chemical 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 87

India and signed a protocol for the export of Indian chilli meal in May 2019. 
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The point at which load line intersects IB(sat) (saturation value of base current) is called- 

 

 

 
 

A) Hockey B) Badminton 

 
C) Football D) Tennis 

 
Answer Key : A Your Response : Not Answered 

 

Question No. 88 

 
 

 

 

A) Cut off point B) Quiescent point 

 
C) Breakdown point D) Saturation point 

 
Answer Key : D Your Response : Not Answered 

 

Question No. 89 

 
 

   

   

 

A) 10 
 

 
B) 

 

 
6 

C) 2 D) 8 

Answer Key : C 
 

Your Response : D (Wrong) 

 

Question No. 90 
 

With which of the following sports was Sandeep Michael associated? 



 

का उपयोग fकया जाता है । 
 

fलए 
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A/an is used in electrical installation to join some conductors and provide different paths 

for different conductors. 

 

The number of depletion layers in a BJT transistor is- 

 

The effect of fringing with the increase in the length of the air gap in magnetic 

circuits. 

 

 

 

 

 

A) Capacitor B) Fuse 

 
C) Ceiling rose D) Junction box 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 91 
 

 

 
 

A) Four B) Three 

 
C) Five D) Two 

 
Answer Key : D Your Response : B (Wrong) 

 

Question No. 92 

 
 

 

 

 

A) Remains constant B) Decreases 

 
C) Becomes zero D) Increases 
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Who is the present Chief Minister of Nagaland? 

Neutral is a circuit conductor that normally carries back to the source. 

The power factor of synchronous generator depends on- 

Answer Key : D Your Response : B (Wrong) 

 

Question No. 93 
 

 
 

 

 

A) Shurhozelie Liezietsu B) Conrad Sangma 

 
C) T.R. Zeliang D) Neiphiu Rio 

 
Answer Key : D Your Response : C (Wrong) 

 

Question No. 94 

 
 

 

 

 

A) Current B) Power 

 
C) Flux D) Voltage 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 95 

 
 
 

 

 

A) Load B) Core losses 

 
C) Armature losses D) Speed of rotor 
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Low resistance value can be measured accurately by using a/an- 

 

 

Which of the following pairs of folk dance forms and states is NOT matched correctly? 

Answer Key : A Your Response : B (Wrong) 

 

Question No. 96 

 

 

 

A) Megger B) Ohmmeter 

 
C) Kelvin double bridge D) Multimeter 

 
Answer Key : C Your Response : D (Wrong) 

 

Question No. 97 
 

 

A) 3 B) 4 

C) 2 D) 5 
 

 

An SCR has PN junctions. 
 

A) 3 B) 4 

 
C) 2 D) 5 

 
Answer Key : A Your Response : C (Wrong) 

 

Question No. 98 

  

 

 
 

 

 

A) Lezim – Maharashtra B) Ghoomar – Kerala 

 
C) Maha Rasa – Manipur D) Nati – Himachal Pradesh 
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An electric stove consumes 5 MJ of energy from a 230 V power supply when turned on for 60 

minutes. Find the approximate power. 

  यावत  राfश क  आविै त Rया होती है ? 

The frequency of an alternating quantity is- 

Answer Key : B Your Response : B (Correct) 

 

Question No. 99 
 

 

A) 1389 W B) 1772 W 

C) 1500 W D) 1823 W 
 

 

 

 

A) 1389 W B) 1772 W 

 
C) 1500 W D) 1823 W 

 
Answer Key : A Your Response : C (Wrong) 

 

Question No. 100 

 

 
 

 

Where is the Guru Shikhar peak located? 
 

A) Madhya Pradesh 

 

 
B) 

 

 
Gujarat 

C) Maharashtra D) Rajasthan 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 101 
 

 

 
 

 

 

 

A) The speed with which the alternator runs B) The number of direction reversals per 
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In which of the following applications is armoured cable used? 

The average value of the current is the divided by the number of currents. 

 
 

C) The number of cycles completed per 

minute 

D) The number of cycles completed per 

second 
 

Answer Key : D Your Response : Not Answered 

 

Question No. 102 
 
 

 
 

 

 

A) Teak wood batten wiring B) Domestic portable appliances 

 
C) General wiring D) Underground systems for distribution 

purpose 

Answer Key : D Your Response : D (Correct) 

 

Question No. 103 

 
 
 

 

 

 

A) Sum of all resistances B) Sum of all voltages 

 
C) Sum of all currents D) Sum of all currents and voltages 

 
Answer Key : C Your Response : B (Wrong) 

 

Question No. 104 
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In a closed loop, the sum of voltage drops across components is equal to- 

What is the material used inside the breather to prevent moisture entering the transformer? 

पर  

 
 

A) Ecosystem diversity B) Bio diversity 

 
C) Species diversity D) Genetic diversity 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 105 

 
 
 

 

 

 

A) Zero B) Half the applied voltage 

 
C) Twice the applied voltage D) The applied voltage 

 
Answer Key : D Your Response : A (Wrong) 

 

Question No. 106 

 
 
 

 

 

A) Silica gel B) Sodium silicate 

 
C) Sodium chloride D) Copper sulphate 

 
Answer Key : A Your Response : A (Correct) 

 

Question No. 107 
 

 
 

A 

Genetic variation between distinct populations of the same species is known as- 
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at a point is defined as the force experienced per unit positive charge at a point 

placed in the electric field. 

 

 

The electronic configuration of an element is 2, 8, 8. It belongs to group- 

 

 
 

 

 

 

A) Magnetic flux density B) Electric intensity 

 
C) Electric flux D) Voltage rating 

 
Answer Key : B Your Response : Not Answered 

 

Question No. 108 
 

 
 

 

 

 

The EMF of a generator depends on- 
 

A) Number of poles 

 

 
B) 

 

 
Number of parallel paths 

C) Flux per pole D) All of the options 
 

Answer Key : D Your Response : D (Correct) 

 

Question No. 109 

 

 

 
 

 

 

A) 16 B) 8 

 
C) 18 D) 17 

 
Answer Key : C Your Response : A (Wrong) 

 

Question No. 110 
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Which lamp has the best Colour Rendering Index (CRI)? 

  

  

 

 
 

 

 

A) Fluorescent B) Incandescent 

 
C) LED D) High pressure sodium vapour 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 111 

 
 

 

A multimeter can measure- 
 

A) All of the options 

 

 
B) 

 

 
Voltage 

C) Current D) Resistance 
 

Answer Key : A Your Response : A (Correct) 

 

Question No. 112 
 

 

 
 

 

Population pyramids are useful to-  

A) Express the population growth rates B) Express the age-sex distribution of a 

population 

C) Indicate the death rates D) Indicate the birth rates 
 

Answer Key : B Your Response : A (Wrong) 

 

Question No. 113 
 



 

A) 1001100 

C) 1001001 

 

B) 1001101 

D) 1001111 
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Which of the following is India's first 3D printed humanoid robot? 

 

Which part of the human ear collects sound from the surroundings? 

  

 भाfवत करती है । 

 

 
 

A) 1001100 B) 1001101 

 
C) 1001001 D) 1001111 

 
Answer Key : C Your Response : C (Correct) 

 

Question No. 114 
 

A) INDRO B) MANAV 

C) DAKSH D) KEMPA 
 

 

 

A) INDRO B) MANAV 

 
C) DAKSH D) KEMPA 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 115 
 

 

 

 

 

A) Pinna B) Anvil 

 
C) Stirrup D) Hammer 

 
Answer Key : A Your Response : B (Wrong) 

 

Question No. 116 
 

What is the binary representation of 73? 
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 म  

 है ,  

The expression for synchronous speed is where Ns-synchronous speed, f- 

frequency, P-number of poles. 

 

 
 

A) Rotor speed B) No load losses 

 
C) Frequency of armature D) Terminal voltage 

 
Answer Key : D Your Response : C (Wrong) 

 

Question No. 117 

 

 
 

 

Ozone layer thickness is measured in- 
 

A) Millimetre 

 

 
B) 

 

 
Decibels 

C) Centimetres D) Dobson Units 
 

Answer Key : D Your Response : D (Correct) 

 

Question No. 118 
 

  

 

A) Ns = 120Pf B) Ns = 120f/P 

C) Ns = 120P/f D) Ns = 120/Pf 

 

 

 

 

A) Ns = 120Pf B) Ns = 120f/P 

 
C) N s= 120P/f D) Ns = 120/Pf 

 
Answer Key : B Your Response : B (Correct) 

The armature reaction affects the when the load on an alternator is increased. 
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What is the expansion of DPIC switch? 

The number of magnetic starter poles refer to the- 

 है  fड ैी 

If an alternator winding has a fractional pitch of 5/6, the coil span is degrees. 

                   Question No. 119 
 

  

 
 

 

 
 

 

 

A) Digital Pole Iron Clad Switch B) Double Pole Iron Clad Switch 

 
C) Double Phase Induction Core Switch D) Dual Phase Iron Clad Switch 

 
Answer Key : B Your Response : D (Wrong) 

 

Question No. 120 
 

   को संदfभत करती है । 

 

 

 

 

A) Number of north poles B) Number of control contacts 

 
C) Number of south poles D) Number of power load contacts 

 
Answer Key : D Your Response : C (Wrong) 

 

Question No. 121 
 

 

A) 180 B) 60 

C) 300 D) 150 
 

 

 

A) 180 B) 60 

 
C) 300 D) 150 

 

 

चै ैंबक य  टाट र  ै  व  क  सं4या 
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Which of the following is an attack in which the user receives unwanted amount of e-mails? 

  

 

Answer Key : D Your Response : A (Wrong) 

 

Question No. 122 
 

 

 

- 
 

A) Watt 

 

 
B) 

 

 
Pascal 

C) Hertz D) Decibel 
 

Answer Key : D Your Response : D (Correct) 

 

Question No. 123 

 

 
 
 

A) Spoofing B) Smurfing 

 
C) Email bomb D) Ping storm 

 
Answer Key : C Your Response : Not Answered 

 

Question No. 124 
 

 

   

 

Ammeter should always have a- 
 

A) Low resistance 

 

 
B) 

 

 
High voltage 
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Which of the following bowlers has/have taken more than 500 wickets in Test Cricket? 

 म  

Reverse Power flow relays are used for the protection of . 

 

Which of the following wiring systems is normally used in domestic purposes? 

C) Low voltage D) High resistance 

Answer Key : A Your Response : C (Wrong) 

 

Question No. 125 
 

 
 

 

 
 

A) Glenn McGrath and Courtney Walsh B) Wasim Akram and Courtney Walsh 

 
C) Wasim Akram and Richard Hadlee D) Richard Hadlee and Glenn McGrath 

 
Answer Key : A Your Response : Not Answered 

 

Question No. 126 
 

 

 

 

 

A) Generating stations B) Transmission stations 

 
C) Transformers D) Domestic power supplies 

 
Answer Key : A Your Response : D (Wrong) 

 

Question No. 127 

 

 
 

 

 

A) Lead Sheathed B) Conduit 
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Which of the following is used to heat a liquid substance? 

Which of the following types of wiring are aesthetically appealing? 

 

In which of the following is a convex mirror used? 

C) Batten D) Capping 

Answer Key : B Your Response : B (Correct) 

 

Question No. 128 
 

 

 

 

 

A) Soldering B) Electric iron 

 
C) Blender D) Electric kettle 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 129 
 

 
 

 
 

 

 

A) Conduit concealed wiring B) Batten wiring 

 
C) Cleat wiring D) Conduit surface wiring 

 
Answer Key : A Your Response : D (Wrong) 

 

Question No. 130 
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Which of the following is NOT the layer of TCP/IP protocol? 

 

 

 

A) Shaving mirror B) Dentist's mirror 

 
C) Rear-view mirror D) Vehicle's headlight 

 
Answer Key : C Your Response : B (Wrong) 

 

Question No. 131 

  
 

 

 

A) Presentation layer B) Transport layer 

 
C) Application layer D) Internet layer 

 
Answer Key : A Your Response : Not Answered 

 

Question No. 132 

 
 

 

What is the average power of an AC circuit? 
 

A) VI Sin²Φ 

 

 
B) 

 

 
VI CosΦ 

C) VI SinΦ D) Zero 
 

Answer Key : B Your Response : B (Correct) 

 

Question No. 133 
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Question No. 135 

 

B) Four 

 

 

The minimum number of diodes needed for a bridge rectifier is- 

 

 

 

 
 

A) Siamese fighting fish B) Common Carp 

 
C) Guppy D) Northern Pike 

 
Answer Key : A Your Response : Not Answered 

 

Question No. 134 
 

 

A) 0.3 V B) 0.1 V 

C) 0.7 V D) 0.8 V 

 

The knee voltage for a germanium diode is- 
 

A) 0.3 V 

 

 
B) 

 

 
0.1 V 

C) 0.7 V D) 0.8 V 

Answer Key : A 
 

Your Response : C (Wrong) 
 

 
 

 

 

 

 

 

A) Five 
 

C) Two D) Six 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 136 
 

 

Government of Thailand has named as the National Aquatic Animal. 
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What is the common name of the compound CaOCl2? 

A winding which has equal number of slots and poles is called- 

 

 

 
 

A) To increase the efficiency B) To increase the current capacity 

 
C) To increase the voltage rating D) To increase the life of the batteries 

 
Answer Key : B Your Response : C (Wrong) 

 

Question No. 137 
 

 

 

 

 

A) Tartaric acid B) Baking soda 

 
C) Washing soda D) Bleaching powder 

 
Answer Key : D Your Response : D (Correct) 

 

Question No. 138 

 
 
 

 
 

 

 

A) Full pitch winding B) Concentrated winding 

 
C) Short pitch winding D) Distributed winding 

 
Answer Key : B Your Response : A (Wrong) 

 

Question No. 139 
 

 

A) MOSFET B) TRIAC 

C) UJT D) DIAC 
 

Why are batteries connected in parallel? 

 



b  
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If the object distance and the image distance from a concave mirror is -20 cm, what is the focal 

length of the mirror? 

A condenser brushing forms arm AB of a Schering bridge and a standard capacitor of 500 pF 

and negligible loss forms arm AD. Arm BC consists a non-inductive resistance of 300 ohm, 

When the bridge is balanced, arm CD has resistance of 72.6 ohm in parallel with a capacitance 

. 

 
 

A) MOSFET B) TRIAC 

 
C) UJT D) DIAC 

 
Answer Key : B Your Response : Not Answered 

                                   Question No. 140 

 

 

 
 

 

A) -8 cm B) -10 cm 

 
C) -14 cm D) -20 cm 

 
Answer Key : B Your Response : Not Answered 

 

Question No. 141 
 

 

 
 

A) 0.121 µF B) 0.421 µF 

C) 0.321 µF D) 0.221 µF 
 

 

 

 

 

 

A) 0.121 μF B) 0.421 μF 

 
C) 0.321 μF D) 0.221 μF 

 
Answer Key : A Your Response : C (Wrong) 

A semiconductor device which acts like a diode and two transistors is- 

https://link.testbook.com/bQQ2EkH1bpb
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The Tellegen’s theorem can be applied to- 

 ह 

The connection of a Zener diode in a circuit is always- 

 

Question No. 142 

 
 
 

 

A) Passive & active networks B) All of the options 

 
C) Hysteric and non-hysteric networks D) Linear & non-linear networks 

 
Answer Key : B Your Response : Not Answered 

 

Question No. 143 
 

 

 
 

 

 

A) Positively biased B) Reverse biased 

 
C) In series D) Forward biased 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 144 
 

 

 

Induction motor works on the principle of- 
 

A) Chemical effect 

 

 
B) 

 

 
Heating effect 

C) Electromagnetic induction D) Electrostatic effect 
 

Answer Key : C Your Response : C (Correct) 



  

Question No. 145 
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Which of the following is a nonpoint source of water pollution? 

 

 
 

 

 

 

A) 0.6 m 

 

 
B) 

 

 
1.5 m 

C) 2 m D) 1.2 m 
 

Answer Key : D Your Response : Not Answered 

 

Question No. 146 
 
 

  
 

 

 

A circuit breaker normally operates- 
 

A) Whenever a fault occurs in the line 

 

 
B) 

 

 
When the power is to be supplied 

C) When the switch is to be put on D) When the line is to be tested 

Answer Key : A Your Response : A (Correct) 

 

Question No. 147 
 

 
 
 

 

A) Factories B) Urban and suburban lands 

 
C) All of the options D) Sewage treatment plants 

 
Answer Key : B Your Response : C (Wrong) 
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Which of the following is a correct format of an Email address? 

 
 

According to weber's molecular theory of magnetism, when a magnetic material is magnetised, 

its molecules are forced along a . 

Question No. 148 
 

 

 

 

 

 

A) www.nameofwebsite.com B) name@website.com 

 
C) name.website..com D) name@website#info 

 
Answer Key : B Your Response : B (Correct) 

 

Question No. 149 
 

  

 

 

 

 

 

A) Lead and copper 

 

 
B) 

 

 
Lead and silver 

C) Lead and tin D) Lead and sodium 
 

Answer Key : C Your Response : C (Correct) 

 

Question No. 150 

 
 

 

 

 

 

A) Parallel line B) Straight line 

 

 

 

http://www.nameofwebsite.com/
mailto:name@website.com
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C) Circular line D) Spherical line 

Answer Key : B Your Response : C (Wrong) 
 

 

 

 

 

 

 

 

 

 

 

 


